SECTION Il TM 55-2210-224-24P

15

17
' 6
e THRI o4] r———J————1
16 THRU 24 18 AND 19 M

Al \’\
A
\
\
©

O
o

4\

S

an

NG

AR\ L

\
[e -]

A W)

. .
ittt

Nma-a-
\re

.
0

4834 042

Figure 42. Receptacle, Multi-Unit



SECTION Il TM 55-2210-224-24P

(1) ) (3) (4) (5)

ITEM PART
NO. FSCM NUMBER DESCRIPTION AND USABLE ON CODE QTY
GROUP 08 ELECTRICAL ACCESSORIES
[FIG. 421RECEPTACLE, MULTIPLE-UNIT

1 96906 MS-90725-34 SCREW, HEX HEAD, CAP 3/8-18 X 75 8
2 96906 MS-35338-45 WASHER, LOCK 313 8
3 96906 MS-27183-12 WASHER, FLAT 313 ROUND 8
4 51225 57-0243 COVER, REAR 1
5 51225 57-0244 GASKET, REAR COVER 1
6 07858 830288 NUT, LOCKING 16
7 LEAD, ELECTRICAL, MAKE FROM, 14 AWG STD 32

P/N 8491796 (72915), TERMINAL, 14-16 AWG
STUD #10, P/N 31906 (89910)

REF DES, (TB #17), MUF17A, MUF17B,

MUF17C, MUF17D, MUF17E, MU17F, MUF17G,
MUF17H, MUF17J, MUF17K, MUF17L, MUF17M,
MUF17N, MUF17P, MUF17R (TB #18), MUR18A,
MUR18B, MUR18C, MUR18D, MUR18E, MUR18F,
MUR18G, MUR18H, MUR18J, MUR18K, MUR18L,
MUR18M, MUR18N, MUR18P, MUR18R

8 LEAD, ELECTRICAL, MAKE FROM, 12 AWG STD, 32
P/N 8491798 (72915), TERMINAL, STUD,

12-1/4 P/N 0X844617 (59400)

REF DES, (TB #17), 17A10A, 17B1 OB,

17C10C, 17D10D, 17E10E, 17F10F, 17G10G,
17H10H,17J10J, 17K10K, 17L10L, 17M10M,
17N100N, 17P100P, 17R100R (TB #18), 18A10A,
18B10B, 18C10C, 18D100D, 18E100E, 18F10F,
18G10G,18H10H, 19J10J, 18K10K, 18L100L,
18M10M,18N10N, 18P10P, 18R10R

9 96906 MS51922-1 NUT, LOCKING, 25-20 X 75 4
10 96906 MS27183-10 WASHER, FLAT, 25 ROUND 4
11 96906 MS35206-283 SCREW, PAN HEAD 4
12 96906 MS90725-60 SCREW, HEX-HEAD, CAP, 3/8 X 1IN 3
13 96906 MS35338-45 WASHER, LOCK, 3/8 3
14 51225 57-0242 HOUSING, MULTI-UNIT 1
15 51225 332B562G31 HOUSING, RECEPTACLE ASSEMBLY 1
16 96906 SCREW, PAN HEAD 3
17 24446 PIN ASSEMBLY 1

42-1



SECTION II TM 55-2210-224-24P

1) ) 3) @) (5)

ITEM PART

NO. FSCM NUMBER DESCRIPTION AND USABLE ON CODE QTY

[EIG. 42|RECEPTACLE, MULTIPLE-UNIT (CONT)

18 24446 PIN, ELECTRICAL LEAD CONNECT 16
19 96906 PLATE, INSULATOR 2
20 24446 RING, SNAP 1
21 24446 SHAFT, HOUSING COVER 1
22 49367 WWR7 SPRING, HOUSING COVER 1
23 49267 WWR5 COVER, HOUSING 1
24 24446 HOUSING, RECEPTACLE 1

END OF FIGURE

42-2




